Revision 6.2 (15 September 2000)

	
	– (
	90( ​– (
	90( + (
	180( – (
	180( + (
	270( – (
	270( + (
	360( – (
	360( + (

	
	
[image: image1.wmf]a

-


	
[image: image2.wmf]a

p

-

2


	
[image: image3.wmf]a

p

+

2


	
[image: image4.wmf]a

p

-


	
[image: image5.wmf]a

p

+


	
[image: image6.wmf]a

p

-

2

3


	
[image: image7.wmf]a

p

+

2

3


	
[image: image8.wmf]a

p

-

2


	
[image: image9.wmf]a

p

+

2



	sin
	-sin (
	cos (
	cos (
	sin (
	–sin (
	–cos (
	–cos (
	-sin (
	sin (

	cos
	cos (
	sin (
	–sin (
	–cos (
	–cos (
	–sin (
	sin (
	cos (
	cos (

	tg
	-tg (
	ctg (
	–ctg (
	–tg (
	tg (
	ctg (
	–ctg (
	–tg (
	tg (

	ctg
	-ctg (
	tg (
	–tg (
	–ctg (
	ctg (
	tg (
	-tg (
	-ctg (
	ctg (



[image: image10.wmf]))

sin(

)

(sin(

2

1

cos

sin

b

a

b

a

b

a

-

+

+

=



[image: image11.wmf]))

sin(

)

(sin(

2

1

sin

cos

b

a

b

a

b

a

-

-

+

=



[image: image12.wmf]))

cos(

)

(cos(

2

1

cos

cos

b

a

b

a

b

a

-

+

+

=



[image: image13.wmf]))

cos(

)

(cos(

2

1

sin

sin

b

a

b

a

b

a

-

-

+

-

=



[image: image14.wmf]2

cos

2

cos

2

cos

cos

b

a

b

a

b

a

-

+

=

+



[image: image15.wmf]2

sin

2

sin

2

cos

cos

b

a

b

a

b

a

-

+

-

=

-



[image: image16.wmf]2

cos

2

sin

2

sin

sin

b

a

b

a

b

a

-

+

=

+



 EMBED Equation.3  


[image: image17.wmf]b

a

b

a

b

a

sin

sin

cos

cos

)

cos(

-

=

+



[image: image18.wmf]b

a

b

a

b

a

sin

sin

cos

cos

)

cos(

+

=

-



[image: image19.wmf]b

a

b

a

b

a

sin

cos

cos

sin

)

sin(

+

=

+



[image: image20.wmf]b

a

b

a

b

a

sin

cos

cos

sin

)

sin(

-

=

-



[image: image21.wmf]2

tg

1

2

tg

2

sin

2

a

a

a

+

=



[image: image22.wmf]2

tg

1

2

tg

1

cos

2

2

a

a

a

+

-

=






[image: image23.wmf]2

2

cos

1

cos

2

a

a

+

=



[image: image24.wmf]a

a

a

cos

sin

2

2

sin

=



[image: image25.wmf]a

a

a

a

2

2

2

sin

2

1

sin

cos

2

cos

-

=

-

=



[image: image26.wmf]a

a

a

a

a

a

3

3

2

sin

4

sin

3

sin

cos

sin

3

3

sin

-

=

-

=



 EMBED Equation.3  [image: image27.wmf]a

a

a

a

a

a

cos

3

cos

4

cos

sin

3

cos

3

cos

3

2

3

-

=

-

=



 EMBED Equation.3  [image: image28.wmf]b

a

b

a

b

a

tg

tg

1

tg

tg

)

tg(

-

+

=

+






[image: image29.wmf]b

a

b

a

b

a

tg

tg

1

tg

tg

)

tg(

+

-

=

-






[image: image30.wmf]b

a

b

a

b

a

cos

cos

)

sin(

tg

tg

+

=

+



[image: image31.wmf]b

a

b

a

b

a

sin

sin

)

sin(

ctg

ctg

+

=

+



[image: image32.wmf]b

a

b

a

b

a

cos

cos

)

sin(

tg

tg

-

=

-



[image: image33.wmf]b

a

a

b

b

a

sin

sin

)

sin(

ctg

ctg

-

=

-



[image: image34.wmf]a

a

a

cos

1

sin

2

tg

+

=



[image: image35.wmf]a

a

a

sin

cos

1

2

ctg

+

=



[image: image36.wmf]a

a

a

cos

1

cos

1

2

tg

2

+

-

=



[image: image37.wmf]a

a

a

cos

1

cos

1

2

ctg

2

-

+

=



 EMBED Equation.3  
[image: image38.wmf]a

a

a

2

tg

1

tg

2

2

tg

-

=



[image: image39.wmf]a

a

a

ctg

2

1

ctg

2

ctg

2

-

=



[image: image40.wmf]÷

ø

ö

ç

è

æ

-

=

+

a

p

a

a

4

cos

2

cos

sin



[image: image41.wmf]j

j

a

j

a

a

cos

;

 

sin

)

cos(

cos

sin

2

2

2

2

2

2

=

+

=

+

-

×

+

=

+

b

a

b

b

a

a

b

a

b

a



[image: image42.wmf]2

arccos

arcsin

p

a

a

=

+



[image: image43.wmf]2

arctg

arcctg

p

a

a

=

+



[image: image44.wmf]Z

m

m

a

x

a

x

m

Î

+

-

=

Þ

=

,

arcsin

)

1

(

sin

p



[image: image45.wmf]Z

k

k

a

x

a

x

Î

+

±

=

Þ

=

,

2

arccos

cos

p



[image: image46.wmf]Z

k

k

a

x

a

x

Î

+

=

Þ

=

,

arctg

tg

p



[image: image47.wmf]Z

k

k

a

x

a

x

Î

+

=

Þ

=

,

arcctg

ctg

p



[image: image48.wmf]ê

ë

é

Î

+

-

=

Î

+

=

Û

=

Z

n

n

Z

k

k

,

2

,

2

sin

sin

p

b

p

a

p

b

a

b

a



[image: image49.wmf]Z

k

k

Î

+

±

=

Û

=

,

2

cos

cos

p

b

a

b

a



[image: image50.wmf]ê

ê

ê

ë

é

¹

¹

Î

+

=

Û

=

0

cos

0

cos

,

tg

tg

b

a

p

b

a

b

a

Z

k

k



[image: image51.wmf]ê

ê

ê

ë

é

¹

¹

Î

+

=

Û

=

0

sin

0

sin

,

ctg

ctg

b

a

p

b

a

b

a

Z

k

k


©1999 Kandaurov & Anisimov Sergey

All Rights Reserved.

skand@inbox.ru
_1002799158.unknown

_1002801052.unknown

_1005739458.unknown

_1005739570.unknown

_1005739855.unknown

_1005740302.unknown

_1005740303.unknown

_1005740121.unknown

_1005739612.unknown

_1005739501.unknown

_1004794746.unknown

_1004794808.unknown

_1004794766.unknown

_1003664270.unknown

_1004794705.unknown

_1003664322.unknown

_1003664100.unknown

_1002799661.unknown

_1002799736.unknown

_1002799970.unknown

_1002800001.unknown

_1002799928.unknown

_1002799689.unknown

_1002799408.unknown

_1002799442.unknown

_1002799385.unknown

_999525160.unknown

_1002798106.unknown

_1002798996.unknown

_1002799081.unknown

_1002798920.unknown

_1002474007.unknown

_1002797832.unknown

_1002798102.unknown

_1002798105.unknown

_1002798101.unknown

_1002474156.unknown

_1002474194.unknown

_999525704.unknown

_999526144.unknown

_999525391.unknown

_980090963.unknown

_988826838.unknown

_988827263.unknown

_999525096.unknown

_999524858.unknown

_988826989.unknown

_980091010.unknown

_980091050.unknown

_980617678.unknown

_980090993.unknown

_980090932.unknown

_980090938.unknown

_980090900.unknown

_980090282.unknown

